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1. Find the distance between the two points on

the number line, denoted by each pair of

numbers given below:


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MFTv3a6ltwr9
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° Watch Video Solution

2.Find the mid point of each pair of points. in

the first problem.

o Watch Video Solution



https://dl.doubtnut.com/l/_MFTv3a6ltwr9
https://dl.doubtnut.com/l/_xaVNNqnZk0Zm

3. The part of the number line between the

1 1
points denoted by the numbers 3 and 3 is

divided into four equal parts. The numbers

denoted by A ,B,C are -

o Watch Video Solution

4. Find the distance between the two points
on the number line, denoted by each pair of

numbers. given below:

)3, —7


https://dl.doubtnut.com/l/_xF7yWNoPHcWA
https://dl.doubtnut.com/l/_AGWwnyVO6L79

o Watch Video Solution

5. Find three points at equal distance between

the points on the number line denoted by the

b 7 q 10
numbers - and —-.

o Watch Video Solution



https://dl.doubtnut.com/l/_AGWwnyVO6L79
https://dl.doubtnut.com/l/_2cJJ1js4vw66

6. Find those =z satisfying each of the
equations below:

e — 1] = |z — 3|

i)z — 3| = |z — 4

i)z 4+ 2| = |z — 5|

iv)|z| = |z + 1]

° Watch Video Solution

7.Provethatifl < x < 4and1 < y < 4,then

lx —y| <3

| & I


https://dl.doubtnut.com/l/_6ebrQn0E7QAv
https://dl.doubtnut.com/l/_60YiSDJ03jSX

| ¥ Watch Video Solution |

8. Prove that if £ <3 and y > 7, then

lz —yl >4

o Watch Video Solution

9. Find two numbers =,y such that

[z +yl = [z| + |y

o Watch Video Solution



https://dl.doubtnut.com/l/_60YiSDJ03jSX
https://dl.doubtnut.com/l/_lL9IP1UaN3R9
https://dl.doubtnut.com/l/_SnJ7rQ1xNgR2
https://dl.doubtnut.com/l/_OSnPAbEOSurk

10. Are there numbers z,y such that

z 4yl <lz|+|y?

o Watch Video Solution

1. Are there numbers x,y such that

[z +yl > |z + |y 7

o Watch Video Solution

12. What are the numbers =z, for which

lx — 2|+ |z — 8 =67


https://dl.doubtnut.com/l/_OSnPAbEOSurk
https://dl.doubtnut.com/l/_F3XEZBnkNarY
https://dl.doubtnut.com/l/_Ka3j1KuFQKLf

° Watch Video Solution

13. What are the numbers z, for which

lx — 2| + | — 8] =107

o Watch Video Solution

14. Find the distance between each pair of

numbers given below on the number line.


https://dl.doubtnut.com/l/_Ka3j1KuFQKLf
https://dl.doubtnut.com/l/_8Um13EkVSDfP
https://dl.doubtnut.com/l/_pGHFNp9BT6z3
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° Watch Video Solution

15.1f |a + 1| = |a + 5|, |b — 2| = |b — 6/, and

a — x| = |b — x| then what is the value of X?

o Watch Video Solution

16. If £ is on the number line to the of 3 and

|x — 3| = 0 thenbr a. What is the value of x ?


https://dl.doubtnut.com/l/_pGHFNp9BT6z3
https://dl.doubtnut.com/l/_UX6Iarjji5f3
https://dl.doubtnut.com/l/_uXFwGcNuAW65

brb.Whatis |z — 3| + [z — 9|7

o Watch Video Solution

17. The absolute value of the difference of two
numbers is 4 . If one number is 8 , what are the

possibilities for the other number?

o Watch Video Solution

18. The end points of one side of an equilateral

triangle are —2 and 4 on the number line.


https://dl.doubtnut.com/l/_uXFwGcNuAW65
https://dl.doubtnut.com/l/_pD6UTmK0aSFj
https://dl.doubtnut.com/l/_epuEAsjdReEd

Find the area and perimeter of this triangle.

o Watch Video Solution

19. a) What is the number which gives
midpoints of the points denoted by the
numbers x and y on the number line.

b) If the numbers = and y are thought of as
points on a number line, what is the
geometrical meaning of |x — y|?

c) .Find those =z satisfying each of the

equations below.


https://dl.doubtnut.com/l/_epuEAsjdReEd
https://dl.doubtnut.com/l/_riJ1tUQp12CF

)|z — 1] = |z — 3|
i) |z — 1| = |z + 3]

if) |z + 1| = |z — 3|

o Watch Video Solution

20. What are the number = which satisfy the

equation | — 2| + | — 6] = 47

° Watch Video Solution



https://dl.doubtnut.com/l/_riJ1tUQp12CF
https://dl.doubtnut.com/l/_HcGPh7uofbPW

21. x is a number on the number line. What is
the relation of the distance between 5 to x
and3tox

i) if |z — 3| = |z — 5| on the number line.

ii) If the distance from —1to x and —7to x is
equal. Then how can we indicate this.
statement using symbol?

iii) What is the relation of the distance
between 1to  and 7 to z if |z — 1| = 2midz

—Tmid?

o Watch Video Solution



https://dl.doubtnut.com/l/_bVma9bP9Uisl

22. a) In the number line, what is the distance
between the points representing the numbers
3and —57

b) Which number represents the midpoint of

these points?

o Watch Video Solution

23.a) If |z — 2| = 3,then what is 2 ?
b) If |z —2|=|r—8|, then what is

lz — 2|+ |z — 8|7


https://dl.doubtnut.com/l/_OK0gH7ui6p73
https://dl.doubtnut.com/l/_6bxAqH16GIsG

o If |t —2|+ |z —8 =6, then find the

integer values of x?

° Watch Video Solution

24, a) If xT=209y= —3J, find
z + yl, [z + |y|?

b) Write the numbers = and y satisfying the
condition' |z + y| = |z| + |y|.

o |z +yl =|z|+ |y and |z| = — x, then
which among the following is true?

[yl =y, |lymid = —y,y > 0,z +y = 0],

| e |


https://dl.doubtnut.com/l/_6bxAqH16GIsG
https://dl.doubtnut.com/l/_krrwPxfEPNr3

& Wwatch Video Solution I

25.I1f mide — 2| = |z — 6|, whatis x?
"If |y — 3| = midy + 1], what is y?

What is |z — y|?

° Watch Video Solution

26. A circle is drawn with B as centre. The
circie is passing through the points P and @
in the number line. If P, represents 1 and B

represents —1


https://dl.doubtnut.com/l/_krrwPxfEPNr3
https://dl.doubtnut.com/l/_tXrnHwx6GumO
https://dl.doubtnut.com/l/_fHF4CxsVlnuP

a) What is the radius of the circle?
b) Which number represents the point Q?

c) Find the perimeter of the triangle AQP.

° Watch Video Solution

27. Find |z| + |y| and |z + y| and find the
relation between them in each of the

following cases..


https://dl.doubtnut.com/l/_fHF4CxsVlnuP
https://dl.doubtnut.com/l/_wwJV7lyaOuaF

c) If [z =x and |yl = —y, what is the

relation between |z| + |y| and |x+y| ?

° Watch Video Solution

28. Find the distance between the two points
on the number line, denoted by each pair of

numbers. given below:


https://dl.doubtnut.com/l/_wwJV7lyaOuaF
https://dl.doubtnut.com/l/_Hf1PyhrONzFC

i) —3, — 7

lv) 3, 7

° Watch Video Solution

29. Draw a line and mark five points on it, 3
centimetres apart. Starting from the , mark
these points as —2, — 1,0, 1, 2. Mark the

. . . 2
points on this line showing — 1§ and /2.

o Watch Video Solution



https://dl.doubtnut.com/l/_Hf1PyhrONzFC
https://dl.doubtnut.com/l/_sswLxwkm7uMa

30. a) What is the number which gives
midpoints of the points denoted by the
numbers x and y on the number line.

b) If the numbers = and y are thought of as
points on a number line, what is the
geometrical meaning of |z — y|?

c) .Find those z satisfying each of the
equations below.

)|z — 1 = |z — 3

i) | — 1| = |z + 3]

ifi) |z + 1| = |z — 3

o Watch Video Solution



https://dl.doubtnut.com/l/_17jB6MYf9RT4

31. a) What are the numbers X which satisfy
the equation |z — 2| + |z — 6] = 4

b) What are the numbers = which satisfy the
equation [z — 2| + | — 6| =5

c) Are there numbers x satisfying the equation

lx — 2| 4+ |z — 6] = 37 Write the reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_17jB6MYf9RT4
https://dl.doubtnut.com/l/_qvU8fTgwV601

32. Find the number on the number

line.equidistant from the numbers —4 and 8.

o Watch Video Solution

33, For = —6 and y= —9, find

|z, |y|, | + y| and compare these values.

o Watch Video Solution

34.Find the values of x such that |z — 1|=3



https://dl.doubtnut.com/l/_uKw6YODMnWyx
https://dl.doubtnut.com/l/_xXfPmKc6YNhc
https://dl.doubtnut.com/l/_GxKJKtIzzY3x

o Watch Video Solution

35. The points —5,1 on the number line are
the end points of a diameter of a circle.

a) What is the diameter?

b) What number denotes the centre of the

circle?

o Watch Video Solution



https://dl.doubtnut.com/l/_GxKJKtIzzY3x
https://dl.doubtnut.com/l/_3WmWA2GqkSKe

36. Find 'the values of |x —y| such that

[z =5 =]z —-9],|ly—2 =5

o Watch Video Solution



https://dl.doubtnut.com/l/_IQLuFTLMGRO9

